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00000000000 0000 (vector)DOD. 0ODOD0DOOOODOOOO
O0oobodb e, 0000000000000 oouo
O00000.000000000000000000000d (component] O O,
a1,a9,---0000.n00000000 n000000 a = (ar,a,- -+ a,) 00
00 |e|0,200 n000000 @,b0 OO (innerproduct], 0000000

oopoooooa.
la| = Za?, a"b:Zaibi-
\ i=1 i=1

oooy,ooobobbOObOOO.

(1) oooooOOo0o0oD0oDU0O00OD0.000 (a+b);=a;+b;000.
l)a-b=b-a
2)a-(b+c)=a-b+a-c
3)a-ab=aa-b

() r000000 ay,as,,a,0 1000000,7+1000000 a1,as,--,a,,b

0100000000,b0 ;0 10000000000000O.

(3 10000 2000000 a,e,00,00000 OO0 100000
Ooooooo)ogo.

(4) 3000000 a=(-2,-1,2),b=(-4,-2,4),c=(3,1,0),0 00000
0000000000000 0000000000VOOO(@OOO)o
00oo0oooooo.
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OO00DiOoO0o0OOo0o0boo0ooooOoooo

OboOoo 30000000 1,2,300000000000000 ey,e9,e3, 00
O@oooooo'’'cogooo)oogooo v,223doopooooooog
e, e,e, 0000000 DOOOODOOO »000000OODODOOOOOO

) ! AN
T = T1€] + o€y + T3e3 = X €] + T9€qy + T35
goodo.

(1) oogoOoDoDooO0O0OoDOoOoO0U0OoDOoOoOUobODbOOogUobODoOogo
gb.gobbbouoodgbobboood

Xy @11 a2 13 Ty
/ _ 1

Ty = g1 Q22 Q93 i) R 00 Q;; = €; - €;
/

X3 a31 dasz2 a33 xs3

O00e,-e;, 00000e€e,0e, 0000000

(20000000000 ¢UDOUOODODOODODOUODOOOOOOO Rs(6)O
R()OR(OH)DDODODOODOODOODOODO

1)0 30 2)0 20 3)0 10

(3) 0000 Ry(§)0 R,(AHDR(H)DDOODODN
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13 dOooooooog

O00o00oooooooood (vectonOOO.000000D000D0OO0ODOO
000000 e000O0OO00O,0000DO0O0O00O0O0OOODO 300000000
00.0000 @b00000000 a;,b(i=1~3)0000,a,b000 (inner
product, scalar produc) O O (outer product, vector produdi), D OO0 OO00OO
O000000000MO0O00000000o0ooOooOooOoo0OO000ooOn.

a-b=ab; =|al-|b|lcosb, (1.1)
axb= (51ija,-bj,52ijaibj,53ijaibj) = |a||b| sin 6 - €. (12)
o000 0O000 @, b0000,e, 0 0000 @,b000000O0O0OO0ODOO

Ooooooo,00o00b e00 b00000000000000000. g%
gogbobobooggboobog,bbobugoobood.

i g k| gk
1 2 3] 1
2 3 1| 1
31 2|1
1 3 2] -1
3 2 1| -1
2 1 3| -1
0

Q) ooobbdd e,b0d00,axb=-bxael000O00O00O0O,

(2 0000000 @,b0000,a-(bxe)=b-(ecxa)=c-(axb)00O0O
00000 (OO0 300).

) 0000000 e,b0000,ax(bxc)=b-(c-a)—c-(a-b)0O0O0O
0000 (OO0 300).
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